MISSION STATEMENT

To provide every child with the highest quality of instruction, curricula, and services; to treat every child with respect and dignity; to give every child the opportunity to learn and mature, to acquire a thirst for knowledge, to experience the satisfaction of accomplishment, and to anticipate becoming a productive member of a democratic society.

VISION STATEMENT

Upon leaving the Matawan-Aberdeen Regional School District, all children will credit us with having given them what they need educationally to help them succeed in life in the pursuit of their own goals.

<u>ACTION MEETING</u> on April 27, 2009, Administration Building, One Crest Way, Aberdeen, New Jersey.

I. CALL TO ORDER

Board President Charles Kenny called the Regular Action Meeting to order at 8:21 PM.

II. PLEDGE OF ALLEGIENCE

III. STATEMENT OF ADEQUATE NOTICE

Mr. Kenny read the following Statement:

"The New Jersey Open Public Meeting Law was enacted to insure the right of the public to have advance notice of and to attend the meetings of public bodies at which any business affecting their interest is discussed or agreed upon. In accordance with the provision of this act, the Matawan-Aberdeen Regional School District Board of Education at its annual Organization Meeting adopted a schedule of the year's regular meetings and said schedule was posted publicly, sent to our official newspaper, the Municipal Clerks of the Borough of Matawan and the Township of Aberdeen, and the Aberdeen-Matawan Joint Free Public Library, within seven days following the Organization Meeting."

IV. ROLL CALL

Present:

Mr. Warren, Mr. Donaghue, Dr. Gambino, Mr. O'Connell, Ms. Rubino, Mr.

Ruprecht, Ms. Hayward, Mr. Kenny.

Absent:

Also Present:

Dr. O'Malley, Mr. Glastein, Mr. Gross, Ms. Irons

V. MINUTES

A motion by Ms. Rubino, seconded by Mr. O'Connell.

THE SUPERINTENDENT RECOMMENDS: That the Board of Education approve the minutes of the March 30, 2009, Regular Action Meeting; March 30, 2009, Executive Session.

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
March 30, 2009-Action	6			2
Meeting				Hayward, Warren
March 30, 2009 - Executive	6			2
Session				Hayward, Warren

VI. CORRESPONDENCE

None

VII. BOARD PRESIDENT'S REPORT

Mr. Kenny stated this is the best time to be President of the Board of Education. There is academic, athletic and personal achievement among district students. The Board and administration have received support through a passed budget. Thanked the voters and the public. The district has a great community as evidenced by the 170 points of blood donated for a former student who is sick. The amount of blood donated exceeded the expectations of the organizers of the event and even the workers who took the blood. Attended the DARE program graduation and the Middle School play. Stated it's time for the Board to get to work.

VIII. SUPERINTENDENT'S REPORT

Dr. O'Malley stated he attended the play at the Middle School which was a success. Also thanked the public for their help in getting the budget passed.

IX. STUDENT REPRESENTATIVE'S REPORT

The new student representative is Andrew Monagle.

Mr. Kenny welcomed Mr. Monagle to the Board and looks forward to speaking to him.

Mr. Monagle thanked the Board of Education for the opportunity to speak.

- Stated he is the liaison between the Board and administration to students.
- Recognized Christopher Harris from the High School who was State Speech and Debate Champion.
- Congratulated golfer Logan Connaughton who placed 16th out of 120 golfers at the Shore Conference Tournament and earned place in state tournament.
- The track team won the Husky Relay.
- The High School musical, "Back to the 80's" was a success.
- The student council has scheduled the powder puff game and battle of the bands.
- At the Middle School, "Joseph and the Amazing Technicolor Dreamcoat" was a huge success and thanked Ms. Veil for her effort.

COMMENTS & QUESTIONS FROM PUBLIC RELATING TO BOARD AGENDA ITEMS

Various Aberdeen and Matawan residents made comments, expressed concern, and/or raised questions regarding the following items included in the agenda to which Dr. O'Malley and Mr. Kenny responded.

Ms. Nappi, Lloyd Road,

Question regarding Personnel items C-6 and C-9, the chaperones for the 5th grade party and the teacher tour guides at Lloyd Road. The staff members should volunteer to do these types of things. The parents and/or students could even help out. Mr. Kenny stated it was a good suggestion and the Board will look into it.

X. PROGRAM

Motion by Mr. Donaghue, seconded by Dr. Gambino.

Ms. Rubino asked if item B-3 under the Program agenda is additional Title I funds and what is the plan to utilize those funds. Dr. O'Malley stated they are additional Title I funds for Schools in Need of Improvement. Some of the funds will be utilized this year while some will carried over.

Move to approve upon the recommendation of the Superintendent:

A. TRAVEL

1. Pursuant to Travel Policy #4033, the following staff is approved for travel related to training and seminars. This travel is deemed educationally necessary and fiscally prudent, and all travel expenditures shall be directly related to and within the scope of the staff member's current responsibilities and the district's Professional Development Plan. (PROGRAM ATTACHMENT 1)

POLICY: 4033 Travel/Reimbursable Expenses

RATIONALE: Required estimates to abide by law and policy. All amounts are not to exceed.

B. OTHER

1. Approve *Achieve 3000* supplemental reading program in the amount of \$14,275 to be purchased with supplemental Title I funds.

RATIONALE: To provide a supplemental computer-based reading program for "at-risk" middle school students. The proposal includes 100 licenses for students, teachers and parents.

2. Approve the revised 2008-2009 school calendar. (PROGRAM ATTACHMENT 2)

RATIONALE: As per the approved calendar on 07/25/08, each emergency day not taken, the last day of school for students and teachers shall be reduced by one day beginning June 25, 2009, in reverse order.

3. Approve additional Title I, Part A funds for the 2008-2009 school year in the amount of \$19,654.

RATIONALE: These are additional funds awarded by the federal government for schools in need of improvement.

C. SPECIAL SERVICES

1. Students to attend out of district placements for the 2008-2009 school program. Policy: 6171.4 Special Education

STUDENT	AGE	CLASS	SCHOOL	REASON	COST	EFF DATE
0903-015	9.4	Auditory	Neptune	New	55 days (\$202.69 per	03/27/09-
		Impaired	Township	placement	diem)	06/23/09
		_	School for the Deaf	Move-In	\$11,147.95	, i
0903-016	7.8	Auditory	Neptune	New	55 days (\$202.69 per	03/27/09-
		Impaired	Township	placement	diem)	06/23/09
		_	School for the Deaf	Move In	\$11,147.95	
0904-010	3	Preschool	Marlboro Public	New	46 days (\$134.26 per	04/21/09-

		Disabled	Schools	placement	diem) \$6,175.95	06/30/09
0610-008	5.6	Preschool Disabled/ Autistic	Marlboro Public Schools	Change In Placement	46 days (\$134.16 per diem) \$6,175.95	04/21/09- 06/30/09
0809-024	18.3	Specific Learning Disabled	MOESC Alternative Interim Program	New Placement	45 day program (\$170.00 per diem) \$7,650.00	04/20/09- 06/18/09
9403-001	20.6	Cognitive Impaired Mild	Educational Collaborations-Life W HS Transition	Continued Placement	\$25,750.00 (10 month full time tuition	09/02/08- 06/30/09
9806-004	17.2	Cognitive Impaired Mild	RKS Harbor School	Continued Placement	\$20,146.00 (.5 - 10 month full time tuition	09/02/08- 06/30/09

- 2. THE SUPERINTENDENT RECOMMENDS: that the Board of Education approve the request to establish a new Special Education Program Moderately Cognitively Impaired Classroom at the High School for the school year 2009-2010. The Superintendent is requesting submission to the Monmouth County Superintendent of Schools for their approval.
- 3. THE SUPERINTENDENT RECOMMENDS: that the Board of Education approve the request to establish a new Special Education Program –Autism Classroom at the High School for the school year 2009-2010. The Superintendent is requesting submission to the Monmouth County Superintendent of Schools for their approval.
- 4. THE SUPERINTENDENT RECOMMENDS: that the Board of Education approve the request to establish a new Special Education Program –Behavioral Disabled Classroom at Lloyd Road School for the school year 2009-2010. The Superintendent is requesting submission to the Monmouth County Superintendent of Schools for their approval.
- 5. THE SUPERINTENDENT RECOMMENDS: that the Board of Education approve the request to establish a new Special Education Program Preschool Disabled Classroom for the school year 2009-2010. The Superintendent is requesting submission to the Monmouth County Superintendent of Schools for their approval.

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8	0		

XI. PERSONNEL

Motion by Mr. Ruprect, seconded by Mr. Warren.

Mr. Warren requested a separate vote for item C-1 of the Personnel Agenda due to a conflict of interest.

A discussion arose among the Board regarding the chaperones and tour guides and the options the Board had whether to table that portion of the agenda, vote on it separately or approve it. There were questions as to whether volunteers could be found and if the Board was forced to use teachers since the amounts paid are contractual.

Mr. O'Connell stated he does not remember this being a past practice. Dr. O'Malley stated in the past teachers were not paid, they were given compensation time instead and that it may be too late to find volunteers or teachers to be chaperones or guides if this is not approved at tonight's meeting. Dr. O'Malley went on to say that the chaperones are needed because there will be over 300 kids at the 5th grade party and six have already been approved at a previous meeting.

Mr. O'Connell moved and then withdrew is motion to vote on items 6 and 9 separately with the stipulation that these items will not become past practice. Mr. Kenny stated it will not be a past practice.

Mr. Kenny emphatically stated any agreement will not be considered past practice and that this matter displays the type of administration the district has since the Superintendent brings these types of matters to the Board's attention.

The Superintendent recommends the following items for the Board of Education's approval:

A. **RESIGNATIONS/RETIREMENTS**

POLICY: 4112.1

Individual Contracts-Certificated Staff

4212.1

Individual Contracts Non-Certificated Staff

NAME	LOC	POSITION	REASON	DATE EMP.	EFF. DATE
STAHL, PATRICIA	СО	Transportation Assistant (Previously Retired 10/1/03)	Resignation	9/1/04 (Rehire)	4/1/09 (Retroactive)
MAYE, FRANCES	MA	Media Specialist	Resignation	5/2/08	6/30/09
KISSANE, MARY F.	CL	Elementary Teacher (English-Basic Skills)	Retirement	9/1/77	6/30/09
QUINLAN, GEORGE	CL	Custodian	Retirement	7/1/85	6/30/09
LAYMAN, CAROL	LR	Elementary Teacher (English-Basic Skills)	Retirement	3/5/85	6/30/09
VAZQUEZ, TARA	RD	Elementary Teacher	Resignation	9/1/08	6/30/09
HINKIS,	MA	Elementary Teacher	Retirement	1/7/86	6/30/09

CAROL		

B. **LEAVES OF ABSENCE**

POLICY:

4151 Attendance Patterns

4151.1 Personal Illness and Injury/Health and Hardship

NAME	LOC	POSITION	TYPE OF LEAVE	WITH/ W/O PAY	EFF. DATE
FIORILLI, CHRISTINA	MA	Teacher of Mathematics	Maternity Leave Disability Phase	With	6/1/09 - 6/30/09
MINUE, PATRICIA	СО	Bus/Van Driver	Personal	Without	4/20/09 (Retroactive) 4/28/09 – Half Day

C. APPOINTMENTS POLICY: 411

4111/4211

Recruiting, Selection and Hiring

4142/4242

Salary Checks and Deductions

4122

Substitute Teachers Student Teachers/Interns

4213/4214

Assignment/Transfer

1. **SUBSTITUTES**

TEACHERS:	ACCOUNT: 11-XXX-100-101-XXXX-9
CATEGORY I	CERTIFICATION
PETROCELLI, KRISTIN	Elementary School Teacher Pre K-5
CABALLERO, EVELYN	Elementary School Teacher Grades K-5
CATEGORY II	ACCOUNT: 11-XXX-100-101-XXXX-9
ROSS, DEBORAH	All Grades K-12
ANTONELLI, JENNIFER	All Grades K-12
CATEGORY III	ACCOUNT: 11-XXX-100-101-XXXX-9
BACCARO, JENNA	All Grades K-12
PARRISH, REGINA	All Grades K-12
RUSZALA, MELISSA	All Grades K-12
SECRETARIAL/CLERICAL/INSTRUCTIONAL ASSISTANTS	ACCOUNT: 11-000-240-105-XX-XXXX-9
LEMMA, JASON	Instructional Assistant
CUSTODIANS	ACCOUNT: 11-XXX-262-116-12-XXXX-9
McFADDEN, JOHN	Custodian
	Custodian
CHARTWELLS	ACCOUNT: 11-000-262-101-10-0000-1
FINNERTY, KATHY	Food Service
	Food Service
CHANGE OF CATEGORY	
From Category II to Category I	

GOLDNER, ANDREW

Elementary School Teacher Grades K-5

NOTE: The law on background checks requires ultimate clearance prior to any employment becoming final.

2. <u>SUMMER SCHOOL – CURRICULUM WRITING</u>

<u>Elementary Summer School Program - Curriculum Writing</u>

#	Name	Position	Activity	Max Hours	Cost/Hr
7	SPAUR, ISABEL	ESL	Grade 3-5	15	\$20.00

Middle School Summer School Program - Curriculum Writing

#	Name	Position	Activity	Max	Cost/Hr
				Hours	
8	ALLI, ASMA	<u>ESL</u>	Grades 6-8	15	\$20.00
10	SEGUI, JESSICA	Language Arts	Grade 6	15	\$20.00
11	SEGUI, JESSICA	Language Arts	Grade 7	15	\$20.00
12	SEGUI, JESSICA	Language Arts	Grade 8	15	\$20.00

Effective: 2008/2009 Summer School Program

Account # 11-000-221-104-04-0000-9

3. **HOME INSTRUCTION**

4 Weeks, 7 Subjects 2 Hours per Subject Total 56 HOURS		
LAST NAME	FIRST NAME	SUBJECT
GOHAR	SERENA	DIGITAL PHOTOGRAPHY
SAEED	ZEBUNNISA	ALGEBRA I
TAKACS	JULIE	PHYSICAL EDUCATION
ROSIELLO	AMANDA	WORLD CULTURES
TOMASELLO	LOUISE	LAB BIOLOGY
PETRO	COLLEEN	FRENCH
SEGUI	JESSICA	ENGLISH I
4 Weeks, 7 Subjects		
2 Hours per Subject		
Total 56 HOURS		
LAST NAME	FIRST NAME	SUBJECT
HOERNLE	CAROL	FASHION DESIGN 2
HOERNLE	CAROL	HOME ECONOMICS
PHILIPPI	COURTNEY	ENGLISH 3
COLBURN	KENDRA	ALGEBRA 2
CARNOVSKY	ROBERT	U.S. HISTORY 2
DELLERT	DEE	PHYSICAL EDUCATION
SAMITT	PAMELA	LAB CHEMISTRY

2.5 Weeks, 3 Subjects 2 Hours per Subject Total 15 HOURS		
LAST NAME	FIRST NAME	SUBJECT
QUINN	KATHLEEN	ENGLISH 1
FRANCIS	ROCHELLE	WORLD CULTURES
FRISCIA	MARY JANE	READING

RATIONALE: Home Instruction required for Student

COST: \$35.00/Hour

ACCOUNT # 11-150-100-101-03-0000-1 Effective: 3/25/09 (Retroactive)

4. SUMMER – SCHOOL PROGRAM – (See ATTACHMENT #1)

5. **VOLUNTEER – ACTIVITIES**

NAME	ACTIVITY/LOCATION
SPORER, MICHAEL	FOOTBALL – HS

COST: None

EFFECTIVE DATE: 2009/2010 School year

6. EXTRA CURRICULAR ACTIVITIES - #(1) Correction from 10/20/09 Approval

NAME	LOC	ACTIVITY	POSITION	STIPEND
DITRE, JENNIFER	LR	5 th GRADE PARTY	CHAPERONES	\$25.00/HOUR
WINTHER,		MAY 8, 2009		3 Hours
MARGARET	İ			Maximum
NOREN, JOYCE				
ZWIRKO, TRACEY				
PAPPAS, JAMES			0	
SULLAM, JOANNE				

RATIONALE: As indicated above

COST: As indicated above

ACCOUNT: 11-120-100-101-70-0000-0

EFFECTIVE DATE: May 8, 2009 (2008/2009 School year)

7. <u>SUMMER THEATRE WORKSHOP - 2009/2010 SCHOOL YEAR</u>

NAME	POSITION	<u>STIPEND</u> (2008/2009 Guide)
VIEL, LINDA	DIRECTOR/COORDINATOR	\$5,980.00
WELLS, GERARD	DIRECTOR	\$5,420.00
MOSLEY-AVILLES, REMOH	VOCAL DIRECTOR	\$3,050.00
MONTIERO, EDDIE	MUSICAL DIRECTOR	\$3,050.00
CRUMLISH, ELLEN	PRODUCTION	\$3,640.00
	DESIGN/CONSTRUCTION	
HEBDING, EVELYN	PRODUCTION ASSISTANT	\$1,200.00

TORSIELLO, TONI	CHOREOGRAPHER	\$2,680.00
ZILG, KAREN	CHOREOGRAPHER	\$2,680.00
SALVATORIELLO, RICHARD	TECHNICAL DIRECTOR	\$2,330.00

RATIONALE: As indicated above EFFECTIVE: June/July/August 2009 ACCOUNT #: 60-990-100-104-30-1402-0

8. PHYSICAL THERAPIST & OCCUPATIONAL THERAPIST

NAME	POSITION	HOURLY RATE
RACIOPPI, BERNADETTE M.	Physical Therapist	\$85.00
CHARETTE, KIM	Occupational Therapist	\$85.00

RATIONALE: These individuals provide required services to the Child Study Team under the Supervisor of Special Services.

supervision of the

COST: As indicated above

ACCOUNT: #11-000-216-320-09-0000-0 and #20-250-100-300-09-0000-0

EFFECTIVE: 2009/2010 School year

LLOYD ROAD - TEACHER TOUR GUIDES (4th Grade Parent Orientation) 9.

NAME	LOC	ACTIVITY	COST/HOUR
CARUSO, EVE	LR	Teacher Tour Guide	\$20.00/Hour - Each
GROSS, MICHELLE			Maximum 2 Hours - Each
MAZUR, ELISSA			
PREUSS, ROSALIE			
SULLAM, JOANNE			
BARILKA, CASEY			
BUCCI, BARBARA			
NOREN, JOYCE			
BISHOP, MARY			
SMITH, DEBORAH			

RATIONALE: 4th Grade Parent Orientation Night EFFECTIVE: May 13, 2009 (7:00PM - 9:00PM) ACCOUNT #11-120-100-101-70-0000-0

10. MIDDLE SCHOOL SPRING MUSICAL

NAME	LOC	ACTIVITY	POSITION	STIPEND
CONNELL, BRIAN (Replacing: Cliff Hultz -	MA	SPRING MUSICAL	BAND	\$300.00
Board approved 3/30/09)		<u> </u>		

RATIONALE: As indicated above EFFECTIVE: 2008/2009 School year ACCOUNT: #11-401-100-890-40-1402-0

11. STAFFING ARRAY CHANGES - 2008/2009 School year

NAME	FROM LOC/FTE	ASSIGNMENT	TO LOC/FTE	ASSIGNMENT	EFF DATE/ REASON
DeBonis, Kerry (1)	MA - 0.30 MA - 0.10 MA - 0.10 RD - 0.50	English Second Language Grade 6 English Second Language Grade 7 English Second Language Grade 8 (RD – ESL)	MA -0.46 LR - 0.54 LR - 0.13 O/L	English Second Language English Second Language English Second Language	3/30/09 – 6/3/09 (Mc Allister Medical Leave)

Account: (1) @ MA 11-240-100-101-40-1401-1, (1) @ LR #11-240-100-101-70-0000-1

RATIONALE: As indicated above COST: Per MRTA Contract

EFFECTIVE: 3/30/09 (Retroactive) 2008/2009 School year

12. <u>COLLEGE STUDENT OBSERVER</u>

NAME	COLLEGE	COOPERATING TEACHER\ADMINISTRATOR	SCHOOL\AREA
ZBOROWSKI, AUDREY	MIDDLESEX COUNTRY COLLEGE	CATHERINE RIGGLEMAN	MA – STUDENT OBSERVER

RATIONALE: Student will be able to complete course work requirements toward degrees and

certifications. COST: None

EFFECTIVE: May 2009

Roll Call Vote to Approve Item C-1 of the Personnel Agenda only:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	7			1
				Warren

Roll Call Vote to the Personnel Agenda excluding Item C-1:

Mr. O'Connell votes yes for the Personnel Agenda but requests the minutes reflect that items 6 and 9 do not establish a past practice. Mr. Gross stated the minutes will reflect that.

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8			

XII. FINANCE / TRANSPORTATION

Motion by Mr. O'Connell, seconded by Mr. Ruprecht.

The Superintendent recommends the Board approve the following items:

A. BUSINESS OPERATIONS

1. **Bills Lists for April, 2009.** (Available for review in Board Secretary's Office) *POLICY: 3326 Payment for Goods and Services*

April, 2009, Hand Checks	\$ 0
March, 2009, Payroll	3,495,176.44
April, 2009, Bills List	1,927,742.36
TOTAL:	\$
	5,422,918.80

2. Transfer of Funds for March, 2009. (Available for review in Board Secretary's Office)

POLICY: 3160 Transfer of Funds Between Line Items/Amendments/Purchases Not Budgeted

WHEREAS NJAC 6:20-2.13 "Over expenditure of Funds" states "a district Board of Education shall not incur any obligation or approve any payment in excess of the amount appropriated by the district Board of Education in the line item pursuant to NJAC 18A:22-8.1".

NOW THEREFORE BE IT RESOLVED that the attached line item transfer be approved:

- 3. The Report of the Treasurer (Month ending March, 2009) which is in agreement with the Board Secretary's Report. (Available for review in Board Secretary's Office) POLICY: 3571 Financial Reports
- 4. The Board Secretary's Financial Report for the month of March, 2009 as follows. (Available for review in Board Secretary's Office)

 POLICY: 3571 Financial Reports

The Board of Education hereby accepts the Board Secretary's Financial Report for the month of March, 2009, as per the procedure instituted by the State Department of Education, wherein the required certification by the Board Secretary is adhered to in the attachment.

Pursuant to N.J.A.C. 6:20-2:13(e), the Board of Education certify that as of March 31, 2009; and after review of the Secretary's monthly financial report for the same month (appropriations section), and upon consultation with the appropriate district officials, to the best of their knowledge no major account or fund has been over expended in violation of N.J.A.C. 6:20-3:13(b), and that sufficient funds are available to meet the District's financial obligations for the remainder of the fiscal year.

5. PERS PENSION OBLIGATION DEFERRAL

WHEREAS, the Legislature passed and the Governor signed S-15 as Chapter 22, P.L. 2009 that reduces the State Aid for the Matawan-Aberdeen Regional School District for the 2008-2009 school year by an amount approximating \$209,282.50;

AND WHEREAS, the Legislature passed and the Governor signed S-21 as Chapter 19, P.L. 2009 that provides school districts with two options concerning their obligation to pay the Public Employees Retirement System, namely payment in full by April 30, 2009, or payment of one-half of the pension obligation by April 30, 2009;

AND WHEREAS, payment of one-half of the pension obligation requires the district to apply for a deferral schedule which will start in April 2012 and continue for 15 years to repay the deferred portion to the retirement system;

AND WHEREAS, deferred payments are subject to normal actuarial growth on accrued liabilities of the pension system, which most recently was a rate of 8.25%;

AND WHEREAS, the School Business Administrator has reviewed the cash flow needs of the Matawan-Aberdeen Regional School District, the surplus balance position of the district, and the impact of the deferral on future budgets if the district should elect to take the deferral or reject the deferral;

NOW BE IT RESOLVED by the Matawan-Aberdeen Regional School District Board of Education that: It hereby rejects the offer of a deferral by the New Jersey Public Employees Retirement System and authorizes the School Business Administrator to pay the 2009 PERS pension obligation in full before April 30, 2009.

B. TRANSPORTATION

1. Transportation Route Renewals, Bid Routes, Negotiated Routes, and Jointures; Contract Award for Vehicle bid

POLICY: 3541.1 Transportation Routes and Services

a. Jointure Routes for the 2008-2009 School Year.

RTE.#	DESTINATION(S)	HOST	JOINER	#OF	JOINER	EFF.	COST
				DAYS	PER DIEM	DATE	
8161	Summerfield School	MOESC	MARSD	60	\$186.96	3/24/09-	\$11,217.60
			2 students		w/aide	6/30/09	
3771	Concordia Learning	Old Bridge	MARSD	45	\$174.00	4/20/09-	\$7,830.00
	Center at St. Joseph's	Twsp	1 student		w/aide	6/30/09	
	School for the Blind						

			TOTAL	\$19,047.60

RATIONALE: All students on these routes require transportation as per his/her Individualized Education Program and/or as per N.J.S.A. 18A:39-1 or Board of Education guidelines.

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8	0		

XIII. COMMENTS & QUESTIONS FROM PUBLIC RELATING TO ADDITIONAL CONCERNS

Various Aberdeen and Matawan residents made comments, expressed concern, and/or raised questions regarding the following items included in the agenda to which Dr. O'Malley, Mr. Kenny, Ms. Rubino and Mr. O'Connell responded.

Mr. Santimauro, 20 Chestnut Drive, Matawan,

- Discussed the Director of Security position and the safety of the children. The safety of children can't be measured in dollars and cents. This individual has his finger on the pulse of the district. Mr. Kenny stated his answer will not be sufficient for Mr. Santimauro. Mr. Kenny is also a parent of a student within the district. Unfortunately, the law prohibits the Board from speaking about an employee's job performance. Mr. Kenny stated that Mr. Santimauro can email or call him to discuss this further. The Board has confidence that the administrators have all of the responsibilities of the Director of Security covered.
- Heard that the police department will be used as security. Mr. Kenny stated nothing is written in stone, however the district does have a police officer in the High School and the district continues to develop its relationship with the police departments of both Matawan and Aberdeen. Mr. Santimauro said there are intangibles that come into play as well that should be taken in account.

Mr. Denino, 21 Donner Place, Aberdeen,

• Felt the need to speak. When he hears from people that there are troubles in our buildings, does not understand why the position of Director of Security would be eliminated. Mr. Kenny stated that the position is being eliminated.

Ms. Rubino stated anything the Director of Security did is going to be taken care of by somebody or by a department. Everything will be status quo.

Mr. O'Connell seconded Ms. Rubino statement. The district does have a security plan which the Board is annually briefed on.

Mr. Denino, 21 Donner Place, Aberdeen,

 Came back to the microphone to state that he loves this community and wants to make sure his kids will be safe.

Mr. O'Connell responded that a child will never be put in danger. Administration has been working closely with both police departments and it is his personal opinion that the new plan has clarity with respect to the accountability of the security for the district.

Mr. Aitken, 65 Juniper Place, Aberdeen,

• Congratulated the new Board members. Is thankful to see that the district did not burden his children by deferring its pension obligation.

Mr. Knox, 97 Aberdeen Road, Matawan,

Asked when the public will be informed of the Board's plan for security. Mr. Kenny stated that security information is very sensitive and the public will not be given details. Mr. Knox stated the public is entitled to this information. Mr. Kenny stated he as Board President is not privy to all details of district security. Parents are entitled to know that their children are safe.

Mr. Kenny asked Ms. Irons to find out what details the Board is allowed to give the public regarding safety procedures.

Mr. Santimauro, 20 Chestnut Drive, Matawan,

 If the Director of Security is no longer in the school, who does a parent call to get answers regarding safety issues? Dr. O'Malley stated the building principal should be called.

Ms. Radvanski, Angelica Court, Matawan,

- Pleased to see Board members, the administration and teachers going door to door in support of the budget. Thanked everyone for presenting a great budget.
- How long has the position of Director of Security been around? Mr. Kenny stated since 2005.

Why was it created and what has changed that it isn't needed anymore. Mr. Kenny stated the structure of the district has changed. Reorganization of the district hierarchy.

XIV. UNFINISHED BUSINESS

Mr. Donaghue stated that security is an issue. He remembers Columbine and September 11th. As a football coach, Mr. Donaghue remembers kids coming and reporting everything they heard and saw. The job of parents is to put awareness into people. Students are the eyes and ears of the parents. Parents need to instruct children to report anything out of the ordinary.

Mr. Warren thanked and congratulated Dr. O'Malley for getting the first budget in eight years to pass. Also thanked teachers for walking door to door to get the budget passed. With respect to safety, nothing would have changed if it sacrificed safety in any way. The district should adopt the policy of "See Something Do Something."

Ms. Guisti, 5 Ivory Court,

Agrees with Mr. Donaghue about parents being involved. With respect to the
individual employed as the Director of Security, kids may be more inclined to speak
to him and they feel safe going to him. Mr. Kenny stated the building principal
should be informed if there are any safety issues. Ms. Guisti stated kids may not
speak to someone else.

Mr. Donaghue clarified he was not passing the responsibility of security to the kids but make them aware of their surroundings.

XV. NEW BUSINESS

Ms. Rubino attended Cliffwood Elementary's art show. The entire kindergarten wing was set up with artwork. The halls looked gorgeous and the Resource Center was decorated with artwork as well. The school looked beautiful.

Mr. Kenny stated he is not a cheerleader for the administration. It is not his role to sit there and defend the administration. The facts presented to the Board allowed him to the defend the administration. The children in the district are safe, and he would vote no on anything if it's the responsible thing to do. Mr. Kenny invited all Board members to work with him.

XVI. ADJOURNMENT

A motion by Mr. O'Connell, seconded by Mr. Donaghue.

RECOMMEND: That the meeting be adjourned. The public portion of the Regular Action meeting adjourned at 9:25PM.

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
3- 3753_ 3	8			

Respectfully submitted,

Susan A. Irons

Business Administrator/Board Secretary

APPROVED STAFF TRAVEL 2008-2009 APRIL 27, 2009

NAME	Billin	DATES	MOITAGO	u Ē	REGIS.	끯					SUB
			NO TOTAL	37 -	1	MAX	PARK	LODGING	MEALS	TOTAL	YES/NO
		07/06/09 thru		Physics-Modeling							
Kaplan,		07/23/09		Instruction							
Daniel	HS	12 Sessions	Skillman, NJ	Workshop	\$750.00	\$313.12	×	×	×	\$1.063.12	S
Kaplan,		08/10/09 to	Middlesex	AP Summer Institute							2
Daniel	HS	08/13/09	County College		\$795.00	\$35.96	×	×	×	\$830 96	2
Lukenda,			Centra State							00.00	2
Elaine	LR/ST	06/01/09	Medical Center	Suicide Assessment	\$25.00	\$9.30	×	×	×	\$34.30	CZ
				Successful Infusion							
				Strategies for							
Politano,				Differentiating							
Georgette	MΑ	05/20/09	Newark, NJ	Instruction	\$199.00	\$51.40	×	×	×	\$250.40	YES
Politano,				Algebra- The Smart							
Georgette	MA	02/30/09	Trenton, NJ	Way	\$25.00	\$15.81	×	×	×	\$40.81	9
Wilson,				Algebra- The Smart							
Tara	MA	60/06/20	Trenton, NJ	Way	\$25.00	\$15.81	×	×	×	\$40.81	9
									_	\$2,260.40	
		* REQUIRED	ESTIMATES TO	* REQUIRED ESTIMATES TO ABIDE BY LAW AND POLICY. ALL AMOUNTS ARE NOT TO EXCEED.	POLICY.	ALL AMOL	INTS ARE	E NOT TO E	1 .		

MATAWAN-ABERDEEN REGIONAL SCHOOL DISTRICT

SCHOOL CALENDAR 2008-2009

		SEPT	EMB!	ER 2	008		Sept. 1 - Labor Day			EDD	UAR	V 20		_	F-1- 40- 40- 5
S	М	Т	W	Т	F	: ;		S	ΙM	T	W	Y 20	F	Ó	Feb. 13, 16 - President's Weekend
	×		3	4	5	1	Sept. 3 - Schools Open	1	2	3	4	5	6	S	February 27 - In Service for Staff
7	8	9	10	11	1:		3 Sept. 30 - Rosh Hashanah	8	9	10	11	12	-	14	Schools Closed
14	1 15	16	17	18	1	9 2		15			18	19	20	21	-
21	22	23	24	25	20	6 2		22	23	24	25	26	20 3K	_	-
28	3 29	×			1	\top	7		2.0	24	20	20		20	1
		OCT	OBE	₹ 200	08		Oct.1 - Rosh Hashanah			NAAF	RCH:	2000 2000			
S	М	T	W	T	F	1 8		S	М	T	W	T	F	S	1
			×	2	3	4	Oct. 9 -Yom Kippur	1	2	3	4	5	6	7	1
5	6	7	8	×	\supset	1	Schools Closed	8	9	10	11	12	13	14	1
12			15	16	17	7 1	Oct. 10 - Columbus Day Observance/	15	16	17	18	19	20	21	{
19			22	23			In-Service for Staff	22	23	24	25	26	27	28	1
26				30			Schools Closed	29	30	31					1
		NOVE			80		Nov. 6 - NJEA Convention				RIL 2	009			April 9 - 17 Spring Recess
S	M	T	W	T	F	S		S	М	T	W	Т	F	S	Schools Closed
\vdash	<u> </u>	ļ		<u> </u>		1	Nov. 7 - NJEA Convention/	\vdash			1	2	3	4	
2	3	4	5		×		_Veteran's Day Observance	5	6	7	8		X	<u> </u>	
9	10	11	12	13			Schools Closed	12	X	X	X			18	
16	17	18	19	20		22	Nov. 26 - Haif Day Students/Staff	19	20	21	22	23	24	25	
23	24	25	26	X	×	29	Nov. 27,28 -Thanksgiving	26	27	28	29	30			
30	<u> </u>						Schools Closed								
		ECE		_	-		Dec. 23 - Half Day			MA	Y 20	09			May 25 - Memorial Day
S	M	T	W	T	F	S	Students/Staff	S	М	Т	W	T	F	S	Schools Closed
-	1 1	2	3	4	5	6	Dec. 24-31 Winter Recess						1	2	
7	8	9	10	11	12		School Closed	3	4	5	6	7	8	9	
14	15	16	17	18		1	4	10	11	12	13	14	15	16	
21	22		\approx	25	25	27	4	17	18	19	20	21	22	23	
28	24	2<	24		<u> </u>	╄-	-		X	26	27	28	29	30	
		LAAL	ADV	2006			1. 10 11	31]	T]		
0		JANU		2009			Jan. 1,2 - New Years Day				VE 20				June 5 - Half Day Students/Teachers
S	М		W		F	S	Schools Closed	S	М	T	W	T	F	S	(High School Only)
<u> </u>			-	좆	Ž	3	Jan. 19 - Martin Luther King Day	Ш	1	2	3	4	18		June 19 - LR 5TH Grade Promotion
4	5	6	7	8	9	10	Schools Closed	7	8	9	10	11	12		June 22 - Half Day Students/Staff
11	12	13	14	15	16	17	ļ	14	15	16	17	18	19	20	June 22 - MAMS Promotion
18	$\frac{1}{2}$	20	21	22	23	24		21	22	25	24	25	26		June 23 - Half Day Students/Staff
25	26	27	28	29	30	31		28	29	30	T	T			June 23 - HS Graduation

X = Students Off / = 1/2 Day Students Staff Marking Periods

1st 09/03/08 - 11/12/08 2nd 11/13/08 - 01/29/09 3rd 01/30/09 - 04/07/09 4th 04/08/09 - 06/23/09 Note: 09/2/08 First Day for Instructional Non-Instructional Assistants Office Assistants

PARENT CONFERENCES - FOUR HOUR SESSION 10/22/08 (Afternoon Grades 6-8) Evenings Grades 9-12 (Afternoon Grades 9-12) Evening Grades 6-8 10/23/08 6-12 12/03/08 Pre-K-5 (Evening CL, RD, ST) (Afternoon LR, CP) 12/04/08 Pre-K-5 (Evening LR, CP) (Afternoon CL, RD, ST) 02/18/09 Pre-K-5 (Afternoon CL, RD, ST) (Evening LR, CP) 02/19/09 Pre-K-5 (Afternoon LR, CP) (Evening CL, RD, ST)

03/18/09 6-12 (Evening Grades 6-8) (Afternoon 9-12) (3/19/09 6-12 (Afternoon Grades 6-8) (Evening 9-12)

Note: There are emergency days built into the calendar, which, if taken, will not be necessary to make up in order to meet the 180-day student year. In fact, for each emergency day not taken, the last day of school for students and teachers shall be reduced by one day beginning June 25, 2009, in reverse order. If additional emergency closing days are needed to be made up, they shall be as half-days, beginning June 26, 2009. Staff must make vacation and personal plans with the understanding that the revised schedule will be implemented as needed based upon whether there are other emergencies, and that the Board will not grant personal leave, without pay for these days. Requests for any other leaves of absence (i.e., sick leave or family illness) on these days may require a physician's verification.

Adopted: 3/19/08

Approved for Revision: 4/27/09

<u>Special Education Extended Year Program</u>
Preschool Disabled (3 Classes)
Multiple Disabled (2 Classes)

Pre-School Handicanned

	,	Pre-school na	anucappeu			
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Special Ed Teacher	3		120 Each	\$40.00	\$14,400.00	CP
1	ł			'		
Sandra Rocco				İ	1	1
Deborah Smith			İ	1		1
Kathleen Joyce				l	1	i
Special Ed Teacher Sub	1		120 Each	\$20.00	NA	CP
			1	420.00	1 100	Cr Cr
Michele Johannesen			į		[i
Instructional Assistant	6		120 Each	\$16.00	\$11,520.00	CP
				4=0.00	411,020.00	Cr
Valerie Dhume			Į			
Raellen Mandelbaum				1		İ
Kathleen Doyle						
Jacqueline Kruzik						
Jillian Gross		:		i	ĺ	
Sharon Collins			:			
	1					
Instructional Assistant Sub	1		120 Each	\$9.00	NA	СР
200				! i		
Michele Johannesen	ŀ					
THOREGO SOLICITIES CIT				i		

Special Education Self-Contained Classes

C 2 '''		Special Education S	seir-Contained Ci	<u>asses</u>		
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Special Education Teacher	4	SE Classes (4)	150 Each	\$40.00	\$24,000.00	District Wide
Andrea Longo						
Kathleen Casserly			ļ		j	
Kate Redzinak						
Tara Fenimore			i			
Special Ed Teacher Sub	1	SE Classes (4)	150 Each	\$20.00	NA	District
Michele Johannesen	İ				1	Wide
Instructional Assistant	6	CE Classes (4)				
Atisti uctional Assistant	"	SE Classes (4)	150 Each	\$16.00	\$14,400.00	District
Denise Putnam						Wide
Ana Graciela Uriarte					1	
Beth Letowsky						
Mary Cannella						
Deborah Harnett					1	
Mary Lou Yourth						
<u>Instructional Assistant</u> <u>Sub</u>	1	SE Classes (4)	150	\$9.00	NA	District Wide
B.41.1 1 7 1		E.				Wide
Michele Johannesen]	
Speech Therapist (Shared)	2	Pre-School Handicapped/MD	108 Shared	\$50.00	\$5,400.00	District
<u>,, .</u>		папакаррец/чи				Wide
Doreen Molinari						
Leigh Munck						

Nurse (Bayshore Shared Cost)	1	Pre-School Handicapped/MD	108 Shared	\$40.00	\$2,160.00	District Wide
Gina Nastro						
Nurse Sub (Shared)	1	Pre-School Handicapped/MD	108	\$40.00	NA	District Wide
Shannon Craney						
Wilson Reading Teacher	1	Middle School	30 Each	\$40.00	\$1,200.00	MS
Kathleen Joyce	ļ				1	
Wilson Reading Teacher Barbara Lyttle	1	Elementary	30 Hours Each	\$40.00	\$1,200.00	District Wide
Special Education Teacher	2	In-Class Support	50 Hours Each	\$40.00	\$4,000.00	District Wide
Mary Beth Smolokoff Kathleen Casserly						
Special Education	4	In-Class Support – Grade 3	50 Hours	+40.00	400000	
<u>Teacher</u>	,	In-class support – Grade S	Each	\$40.00	\$8,000.00	District Wide
Maggie Lazur	ļ					
LDT/C Jennifer Petillo	2	CST Evaluations	30 Cases Shared	\$200.00 Per Case	\$6,000.00	District Wide
Jessica Hollinger	l					ļ
Social Worker	2	CST Evaluations	30 Cases	\$200.00	\$6,000.00	District
Laura Reigelsperger James Zibbell			Shared	Per Case		Wide
Speech Therapist	1	CST Evaluations	30 Cases	\$50.00	\$1,500.00	District
Doreen Molinari			Shared	Per Hour		Wide
<u>Teacher –</u> <u>Regular Education</u>	3	IEP Meetings	30 Cases Shared	\$40.00 Per Hour	\$1,200.00	District Wide
Gail Schneiderman Joanne Toomey Karen Meany						
Teacher – Special Education	2	IEP Meetings	30 Cases Shared	\$40.00 Per Hour	\$1,200.00	District Wide
Patricia Mattern Mary Beth McFadden						

		Guidan	<u>ce</u>			
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Student Personnel Services (HS/MS Shared)	5	100 Hours to be shared at the discretion of the director (no more than 15 total for MS)	100 Shared	\$40.00	\$4,000.00	HS/MS
Ellen Ninger Kathy Feen Mary Donnelly Pam Main		,				
Daryl McKurth						

Language Arts Teacher	1	SRA LAL Teacher	60	\$40.00	\$2,400.00	HS
Kimberly Rogers						
Math Teacher	2	SRA Math Teacher	60 Shared	\$40.00	\$2,400.00	HS
Diane Stetz			1			
Zebunnisa Saeed	1					
(Shared)						
<u>Language Arts Teacher</u>	2	Scoring of LAL SRA	20 Shared	\$20.00	\$400.00	HS
Kimberly Rogers						
Jessica Furman						
Math Teacher	2	Scoring of Math SRA	35 Shared	\$20.00	\$700.00	HS
Diane Stetz	1					'
Zebunnisa Saeed						
Language Arts Teacher	2	LA Teacher for Senior	4 Shared	\$40.00	\$160.00	LIC
		Summer Institute	· Gridica	\$10.00	\$100.00	HS
Robert Malave		I A Tomoba C. C. i				
Laura Pisani	1	LA Teacher for Senior Summer Institute Prep	1 Shared	\$20.00	\$20.00	
(Shared)	<u></u>	Danking Misblute Frep				

High School

		<u>nign sur</u>	1001			
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	Cobool
Teacher			7 101 170013	COSQIII	TOTAL CUST	School
Geometry Teacher	1	Summer Teacher for Academy	120 Each	\$40.00	\$4,800.00	HS
Jacqueline Butler	<u> </u>			1		

Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Summer Theater Nurse	12	Summer Theater	75 Shared	440.00		
Donna Godowski Cathy Mallozzi (Shared)	10	Summer meater	/5 Shared	\$40.00	\$3,000.00	HS

Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	Coheat
Inventory/Service			Transforms	CUSQTII	TOTAL COST	School
Science Teacher	3	Inventory of Materials in Physics, Biology, Chemistry,	24 Shared	\$20.00	\$480.00	HS
Charles Rego		Oceanography				İ
Helen Hodnicky	1		- 6			-
Kerry Pross						
(Shared)						1
Math/Science Book Room Inventory	1	Book Room Inventory	25 Each	\$20.00	\$500.00	HS
Kerry Pross						
English/Social Studies Book Inventory	1	Book Room Inventory	25 Each	\$20.00	\$500.00	HS
Gail Bauwens						

Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Summer Athletics				2009711	1010/0036	301001
Teacher	3	Weight Training (Shared Hours)	70 Shared	\$40.00	\$2,800.00	HS
Sam Turner				}		
Charles Marsh		1				
Joseph DiMario			1		1	
(Shared)						1
Nurse	2	Assisting School Doctor with Physicals (after school, 4	16 Shared	\$40.00	\$640.00	HS
Donna Godowski		days, 4 hours per day)			i	
Nina Keats						
(Shared)						
Nurse	1	Process physicals for HS and MS	20 Each	\$20.00	\$400.00	HS/MA
Donna Godowski						

		ESL				
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
ESL Teacher	1	Summer MAC Testing - Testing new students who	20 Each	\$40.00	\$800.00	District
Isabel Spaur		enter district with Home Language Surveys indicating			:	Wide
	<u> </u>	other than English				

Summer Program DATE/TIME TBD

*The number of summer school teachers will be determined based on the amount of students who participate. The final number of teachers will be decided before the program starts.

Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Teachers Grade 3-5 Amanda Mizzi	6*	Teaching Summer Program Will teach LAL and Math	300	\$40.00	\$12,000.00	MAMS
Audrey Ramadan Carolyn Featherstone Michele Gross Nancy Flynn JoAnn Hickey Vanessa Kahaly Meagan Drapkin (Shared)		(25 days) Planning Must be available day before summer program begins and day after it ends	30	\$20.00	\$600.00	
Teacher 6-8 Math Gina Hynes	2*	Teaching Summer Program (25 days) Planning	50 each	\$40.00	\$4,000.00	MAMS
Corinne Wietecha		Must be available day before summer program begins and day after it ends	5 each	\$20.00	\$200.00	
Teacher 6-8 LAL Jessica Segui	2*	Teaching Summer Program (25 days) Planning	50 Each	\$40.00	\$4,000.00	MAMS
Jennifer Gregg Paul Pacifico		Must be available day before summer program begins and day after it ends	5 Each	\$20.00	\$200.00	
Teacher 6-8 Science	1*	Teaching Summer Program (25 days)	75	\$40.00	\$3,000.00	MAMS
Debbie Mescal Karen Jenkins		Planning Must be available day before summer program begins and day after it ends	5	\$20.00	\$100.00	

Teacher 6-8 Social Studies Dylan Tarrazi Charles Marsh	1*	Teaching Summer Program (25 days) Planning Must be available day before summer program begins and	75 5	\$40.00 \$20.00	\$3,000.00 \$100.00	MAMS
ESL Teacher Grades 2-5 Isabel Spaur	1*	day after it ends Teaching Summer Program Will teach LAL and Math (25 days)	50	\$40.00	\$2,000.00	MAMS
		Planning Must be available day before summer program begins and day after it ends	5	\$20.00	\$100.00	
ESL Teacher Grades 6-8 Asma Alli	1*	Teaching Summer Program Will teach LAL and Math (25 days) Planning	50	\$40.00 \$20.00	\$2,000.00 \$100.00	MAMS
		Must be available day before summer program begins and day after it ends				
Nurse Nina Keats Rosalie Preuss (Shared)	1	Summer Program Servicing all summer program students as needed	75 Shared	\$40.00	\$3,000.00	MAMS
Summer Program Coordinator Maryann Cacopardo	1	Administrative Responsibilities - 27 Days Attendance, scheduling, parent contact, data collection, discipline, record keeping, other designated tasks	80 Each	\$40.00	\$3,200.00	MAMS

		Elementary Curriculum \	Nriting/ Deve	lopment		
Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Social Studies Curriculum Writing – Kindergarten	2	Social Studies Curriculum Guide	30 each	\$20.00	\$1,200.00	CO
Regina Sowa Colleen Marion						
Social Studies Curriculum Writing — Grade 1	2	Social Studies Curriculum Guide	30 each	\$20.00	\$1,200.00	СО
Amanda Mizzi Vanessa Kahaly						
Social Studies Curriculum Writing — Grade 2	2	Social Studies Curriculum Guide	30 each	\$20.00	\$1,200.00	СО
Larissa Holynskyj Sheryl Preiser						
Social Studies Curriculum Writing — Grade 3	2	Social Studies Curriculum Guide	30 Each	\$20.00	\$1,200.00	СО
Vacant						

Social Studies Curriculum Writing — Grade 4	2	Social Studies Curriculum Guide	30 Each	\$20.00	\$1,200.00	СО
Michele Gross Elissa Mazur						
Social Studies Curriculum Writing — Grade 5	2	Social Studies Curriculum Guide	30 Each	\$20.00	\$1,200.00	СО
Nancy Flynn Vacant						
Spanish Curriculum Writing — Grade 3	1	Spanish Curriculum Guide	30 Each	\$20.00	\$600.00	СО
Catherine Miller	<u> </u>					

Elementary School-Based Activities

		Figuretiral A 201001-	<u>Daşçu Activi</u> e	<u>.162</u>		
<u>Positio</u> n	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Media Center Specialist	2	Summer Reading Program Time split among four	20 Shared	\$40.00	\$800.00	CL/RD/
Frances Minneci Martha Christophe		elementary schools Hours can be split among applicants				ST/LR

Middle School Curriculum Writing / Development

Position	Staff	Activity	Max Hours	Cost/Hr	Total Cost	School
Math- MAMS Grade 6 Course 1	2	Includes teacher training & planning, curriculum writing & sequencing	40 each	\$20.00	\$1,600.00	CO
Tara Wilson						1
Mike Redmond	İ					
Math- MAMS Grade 7 Course 2	2	Includes teacher training & planning, curriculum writing & sequencing, & creating mid-term & final	40 each	\$20.00	\$1,600.00	со
Diane Iozia			i	İ	i	
Corrine Wietecha			ļ.			
Math- MAMS Pre-Algebra	2	Includes teacher training & planning, curriculum writing & sequencing, &	40 Each	\$20.00	\$1,600.00	СО
Tara Wilson	İ	creating mid-term & final	j			i
Mike Redmond						1
Math - MAMS Algebra 1 Tara Wilson Mike Redmond	2	Includes teacher training & planning, curriculum writing & sequencing, & creating mid-term & final	40 Each	\$20.00	\$1,600.00	СО
Math Geometry	2	Includes teacher training & planning, curriculum writing & sequencing, &	40 Each	\$20.00	\$1,600.00	со
Tara Wilson Mike Redmond		creating mid-term & final				
Social Studies Grade 6	2	Includes curriculum revisions to njcccs and benchmark assessments	10 Each	\$20.00	\$400.00	СО
Nancy McInerney						
Kristen O'Connor						

	·	 -				
Social Studies Grade 7	2	Includes curriculum revisions to njcccs and benchmark assessments	10 Each	\$20.00	\$400.00	CO
Nancy McInerney		benchinary assessments				
Kristen O'Connor						
Social Studies Grade 8	2	Includes curriculum revisions to nicces and benchmark assessments	10 Each	\$20.00	\$400.00	СО
Nancy McInerney				1	!	
Kristen O'Connor				1		
World Language – Spanish 7 & 8	2	Includes teacher training & planning, curriculum writing & sequencing,	30 Each	\$20.00	\$1,200.00	СО
Patrice Burkhardt Carol Fajardo		benchmark assessments, and textbook selection				
World Language - Italian 7 & 8	2	Includes teacher training & planning, curriculum writing & sequencing,	30 Each	\$20.00	\$1,200.00	СО
Ann Marie Fricchione Vacant		benchmark assessments, and textbook selection				
World Language – French 7 & 8	2	Includes teacher training & planning, curriculum	30 Each	\$20.00	\$1,200.00	СО
Patrice Burkhardt Vacant		writing & sequencing, benchmark assessments, and textbook selection				
World Language -	1	Includes teacher training	15 Each	\$20.00	+200.00	
Mandarin 8		& planning, curriculum	15 Cacii	\$20.00	\$300.00	co
Anne Liao	_	writing & sequencing, benchmark assessments, and textbook selection				
World Language 6-8	5	1 day of PD training for	5 hours	\$20.00	\$500.00	co
Patrice Burkhardt Teresa Downey	MAMS WL Dept.	new series	Each			
Ann Marie Fricchione						1
Karina Cosentino						1
Margaret Lathrop Music Grades 6-8	2	To all all a land	25.5			
Nadine Greenspan Gerald Wells		Includes teacher training & planning, curriculum writing & sequencing, benchmark assessments, and textbook selection	25 Each	\$20.00	\$1,000.00	СО
Music Grades 6- 8	3	1 day of PD training for new series	5 hours Each	\$20.00	\$300.00	со
Nadine Greenspan Gerald Wells	MAMS Music					
Geraid Wells Terri Walliczek	Dept.					
Terri Walliczek						

<u>High School Curriculum Writing - Academy Courses</u> Staff Activity Max Hours Cost/Hr Total Cost School **Bio Medical Geometry** 2 Includes teacher training & 40 each \$20.00 \$1,600.00 HS planning, curriculum writing & Nichole Wynes sequencing, & creating mid-term and final exams Vacant Bio Medical Algebra 2 Includes teacher training & 40 each \$20.00 \$1,600.00 HS planning, curriculum writing & Kendra Colburn sequencing, & creating midterm and final exams Katy Fricovsky

Di- 11-15-1	1 = -					
Paul Servidio Helen Hodnicky	2	Includes teacher training & planning, curriculum writing & sequencing, & creating	50 each	\$20.00	\$1,800.00	HS
	 	mid-term & final exams				
Bio Medical Chemistry Greg Milan Kerry Pross	2	Includes teacher training & planning, curriculum writing & sequencing, & creating mid-term & final exams	50 each	\$20.00	\$1,800.00	HS
Bio Medical Technology Katy Fricovsky Vacant	2	Includes teacher training & planning, curriculum writing & sequencing, & creating mid-term & final exams	40 each	\$20.00	\$1,600.00	HS
Business Computer Applications Geraldine Mickley Serena Gohar	2	Includes teacher training & planning, curriculum writing & sequencing, & creating mid-term and final exams	40 each	\$20.00	\$1,600.00	нѕ
Introduction to Business Serena Gohar	1	Includes teacher training & planning, curriculum writing & sequencing, and final exam (semester course)	25 each	\$20.00	\$500.00	HS
Introduction to Management Geraldine Mickley	1	Includes teacher training & planning, curriculum writing & sequencing, and final exam (semester course)	25 each	\$20.00	\$500.00	HS
Introduction to Marketing Geraldine Mickley	2	Includes teacher training & planning, curriculum writing & sequencing, and final exam (semester course)	25 each	\$20.00	\$500.00	HS
Dance I Julie Takacs	1	Includes teacher training & planning, curriculum writing & sequencing, & creating mid term and final exams	40 Each	\$20.00	\$800.00	HS
Dance II	1	Includes teacher training & planning, curriculum	25 Each	\$20.00	\$500.00	HS

Dance II	1	Includes teacher training & planning, curriculum	25 Each	\$20.00	\$500.00	HS
Julie Takacs		writing & sequencing, mid term and final exams				
Acting I	1	Includes teacher training &	25 Each	\$20.00	\$500.00	HS
Gail Bauwens		planning, curriculum writing & sequencing, mid term and final exams	-0 220.7	\$20.00	\$300.00	пэ
Acting II	1	Includes teacher training &	25 Each	\$20,00	\$500.00	HS
Gail Bauwens		planning, curriculum writing & sequencing, mid term and final exams		,	4550.00	113

Music Theory I	11	Includes teacher training &	40 Each	\$20.00	±000 00	1.00
	-	planning, curriculum	TO Laci	\$20.00	\$800.00	HS
Seth Jones		writing & sequencing,	ļ			1
Sen Jones						
1		benchmark assessments,				
		and textbook selection &				
	1	creating mid term and final				
		exams				ŀ

High School Curriculum Writing - Non-Academy Courses Position Staff Activity Max Hours Cost/Hr Total Cost School Band I Includes teacher training 40 Each \$20.00 \$800.00 HS & planning, curriculum writing & sequencing, & Seth Jones creating mid-term and final exams **Band II** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum Seth Jones writing & sequencing, & creating mid-term and final exams Includes teacher training **Band III** 1 15 Each \$20.00 \$300.00 HS & planning, curriculum writing & sequencing, & Seth Jones creating mid-term and final exams **Band IV** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum writing & sequencing, & Seth Jones creating mid-term and final exams **Band IV** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum Seth Jones writing & sequencing, & creating mid-term and final exams Chorus I 1 Includes teacher training 40 Each \$20.00 \$800.00 HS & planning, curriculum writing & sequencing, & Vanessa Moreno creating mid-term & final exams **Chorus II** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum Vanessa Moreno writing & sequencing, & creating mid-term & final exams **Chorus III** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum Vanessa Moreno writing & sequencing, & creating mid-term & final exams **Chorus IV** 1 Includes teacher training 15 Each \$20.00 \$300.00 HS & planning, curriculum Vanessa Moreno writing & sequencing, & creating mid-term & final exams Elements of Algebra I 2 Includes teacher training 40 Each \$20.00 \$1,600.00 HS & planning, curriculum

writing & sequencing, & creating mid-term & final

exams

Jackie Butler

Zebunnisa Saeed

Algebra I	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Jackie Butler		planning, curriculum writing & sequencing, & creating mid-term			' ',	
Zebunnisa Saeed		and final exams				
Algebra I Honors	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Jackie Butler		planning, curriculum writing & sequencing, & creating mid-term	lo caci	\$20.00	\$1,000.00	пэ
Zebunnisa Saeed		and final exams		j		
Elements of Geometry	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Nichole Wynes		planning, curriculum writing & sequencing, and creating mid-term and final exams				
Geometry	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Nichole Wynes	1	planning, curriculum writing & sequencing, and creating mid term			1	
Diane Stetz		and final exams				
Geometry Honors	2	Includes teacher training &	40 Each	420.00	1	ļ <u>.</u>
	-	planning, curriculum writing &	40 Each	\$20.00	\$1,600.00	HS
Nichole Wynes		sequencing, and creating mid term				
Diane Stetz		and final exams				
Elements of Algebra II	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Kendra Colburn		planning, curriculum writing &		'		
Vacant		sequencing, and creating mid term and final exams				
Algebra II	2		10 5			
Algebia II	4	Includes teacher training & planning, curriculum writing &	40 Each	\$20.00	\$1,600.00	HS
Kendra Colburn]	sequencing, & creating mid term				
Diane Stetz	ĺ	and final exams				
Algebra II Honors	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
Kanadan Callana		planning, curriculum writing &		120,00	42,000.00	''"
Kendra Colburn Diane Stetz		sequencing, and creating mid term and final exams			İ	
Diane Seez	1120	term and mar exams		}		
Discrete Math	2	Includes teacher training &	40 Each	\$20.00	\$1,600.00	HS
.		planning, curriculum writing &		420.00	41,000.00	[''']
Mario Cornacchia	==	sequencing, and creating mid term and final exams	ļ		8	1
Vacant Algebra III/Trigonometry						1
Aldebra 111/1/Indonometry	2	Includes teacher training & planning, curriculum writing &	40 each	\$20.00	\$1,600.00	HS
Mario Cornacchia		sequencing, and creating mid term		!]
Vacant	l	and final exams				
<u>Statistics</u>	2	Includes teacher training &	40 each	\$20.00	\$1,600.00	HS
1,64.5.	İ	planning, curriculum writing &	,	750.00	42,000.00	'''
Katy Fricovsky		sequencing, and creating mid term and final exams				
Mario Cornacchia Health Grade 9	_ _					
iledijii Grage 9	2	Includes teacher training & planning, curriculum writing &	15 each	\$20.00	\$600.00	HS
Nicole Karatzia		sequencing, and creating end of				
Vacant		course assessment				
Health Grade 12	2	Includes teacher training &	15 each	\$20.00	\$600.00	HS
	- 1	planning, curriculum writing &	30 00011	Ψευίνυ	φυσυ.υσ	пэ
Deirdre Dellert		sequencing, and creating end of course assessment				
Vacant				i		
Contemporary US History	2	Includes teacher training &	25 each	\$20.00	\$1,000.00	HS
Louise DeLisa		planning, curriculum writing & sequencing, and creating final				
Vacant		exam (semester course)				

Foods and Nutrition I Shannon Claudio	2	Includes teacher training & planning, curriculum writing & sequencing, and creating final exam (semester course)	25 each	\$20.00	\$500.00	HS
Foods and Nutrition II Shannon Claudio	2	Includes teacher training & planning, curriculum writing & sequencing, and creating final exam (semester course)	25 each	\$20.00	\$500.00	HS
World Cuising Carol Hoernle	2	Includes teacher training & planning, curriculum writing & sequencing, and creating final exam (semester course)	25 each	\$20.00	\$500.00	HS

